Auxiliary Problems for Chapter 21 
1.
Suppose the following production function refers to a bicycle shop:
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a)  What is the marginal physical product of the first worker? The second worker? The fifth worker?

b)  At what point does the law of diminishing returns become apparent?

2.
Ms. Ramirez runs a small consulting firm. She rents a building for $4,000, the cost of two secretaries is $40,000 and the annual cost of electricity and gas is $6,000. There is great demand for her work and her total revenue is $150,000. She was offered a job with another firm for $75,000 salary, but she refused the offer. The money (all of which is her own) invested in her company could have been put in a bank and could earn her $4,000 per year in interest. Calculate the accounting and economic profits for Ms. Ramirez’s consulting firm.
3.
Suppose (A) the hourly wage rate is $12 in the U.S. and $2 in China, and (B) productivity is 20 units per hour in the U.S. and 2 units per hour in China. What are unit labor costs in:

a) The United States?

b) China?

4.
What is the difference between the long run and the short run with respect to fixed and variable inputs?  

5.
What is the difference between the terms “average total cost” and “marginal cost”?
